Section 28.4: contid

Wednesday, February 06, 2013 10:30 AM

$$\begin{cases}
\frac{\tan e^{-x}}{e^{x}} dx \\
= \int e^{-x} \tan e^{-x} dx
\end{cases}$$

$$\begin{aligned}
|et u = e^{-x} \\
du = -e^{-x} dx
\end{aligned}$$

$$= -\int |an u du|$$

$$= + |n| |cos u| + C$$

$$= |n| |cos e^{-x}| + C$$

method #1:

$$= \int \frac{\cos^3 2x}{\sin 3x} dx$$

let u = cos 2x du = -2sin 2x dx

$$= \int_{0}^{\infty} \frac{du}{u^{2}}$$

method #2:

$$\int \frac{\tan 2x}{\cos 2x} dx = \int \tan 2x \sec 2x dx$$

$$= \int \sec 2x + C$$

$$\frac{1}{1+\sin\theta} = \frac{1}{1+\sin\theta} = \frac{1}{1+\sin\theta} = \frac{1}{1+\sin\theta} = \frac{1-\sin\theta}{1-\sin\theta} = \frac{1}{1+\sin\theta} = \frac{1-\sin\theta}{1-\sin\theta} = \frac{1}{1+\sin\theta} = \frac{1-\sin\theta}{1+\sin\theta} = \frac{1}{1+\sin\theta} = \frac{1-\sin\theta}{1+\sin\theta} = \frac{1}{1+\sin\theta} = \frac{1-\sin\theta}{1+\sin\theta} = \frac{1}{1+\sin\theta} = \frac{1}{1+\sin\theta} = \frac{1}{1+\cos\theta} =$$

= 
$$\tan \theta$$
 -  $\pm c$   
 $\cos \theta$   
=  $\tan \theta$  -  $\sec \theta$  +  $c$   
 $\sin \theta - 1$  +  $c$   
 $\cos \theta$ 

method #1:

$$= \int u du$$

$$= \frac{u^2}{2} + C$$

$$= \frac{\sin^2 x}{2} + C$$

$$= - \int u du$$

$$= \frac{u^2}{3} + C$$

$$= - \frac{\cos^2 x}{3} + C$$

## method #3:

$$\int \sin x \cos x \, dx = \int \int \int \sin ax \, dx$$

$$= - \int \int \int \cos ax \, dx + C$$